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FIN 5.1+642 87/02/02. 10.44,20 PAGE 18
SUBROUTINE RCKELI 74/175 OPT=0,ROUND= A/ S/ M/-D,-DS

D0=-LONG/~0T,ARG=-COMMON/-FIXED,CS= USER
/-FIXED,0DB= TB/ SB/ SL/ €R/-ID/ PMD/-ST,-AL,PL=5008
FTN5,I=CHRLGS,L,LO0,DB,PN,PW=90,P5=80.

SUBROUTINE RCKELI(N,A,Y,X)

PARAMETER {IA=50}
REAL A{IA,1A), Y(IA), X(IA)
INTEGER N .

X
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SUBROUTINE ZUR RUECKWAERTSELIMINATION, O.H. ZUR LOESUNG VON
RXX=Y

ERKL.AERUNG DER FORMALEN PARAMETER:
‘DIMENSION ERKLAERUNG

INTEGER DIMENSION DER MATRIX A {E)

REAL 2 DREICKSZERLEGUNG DER MATRIX A
{UEBERSPEICHERT) {E)

REAL VEKTOR, DER DIE LOGESUNG VON
LxY=8 ENTHAELT (E}

REAL VEKTOR ZUR AUFNAHME DER LOESUNG VON
R*X=Y (A}

o e % N % %

»*

i[*mwme ‘mexFunc phhs, nrhs, prhs)

"Uoo many ouboal arsumsnlbe’)

E: EINGABEPARAMETER
A: AUSGABEPARAMETER

end=f
1f{ mxIsClaes( prhs(l), ‘funct_on_handle’} .ne. 1) Lhen
11 mexErrMsgTxt('lst nput argument aust i
funztoon_handla*}
( mxIsClass( prhe(2),
mexErrMsgTxt (‘' 2nd =
mxIsClass( prhs(3), NG
mexErrMegTxt (" 2rd _noal arguwnenl masl e a
( mxIsClass( prhs(4), 'szngle’} 1) then
mexErrMsgTxt (*Ath -nput argumant muzt bz a =2-
( mxIsClass( prhe(5), .ne. 1) Lhen
mexErrMsgTxt (' Sth Zno r 2 must be an znt32')

KONSTANTEN {'PARAMETER’ IN FORTRAN):
IA: MAXIMALE DIMENSION DER MATRIX A
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--VARTABLE MAP--(LO=A/R)
input(l} = prhs(l} ! komupyew yrasamank HA CORNKY HAa DYHKIME (XOPOWO, WTO HE HAZO JIYMATh MPO TUM, MPOCTO KOMUPYEM Kak 20Tk} -NAME---ADDRESS ~--BLOCK

A 2 DUMMY-ARG 2500

classid mxClassIDFromClassName (‘sznzla') | ompemenses ®IACC APTYMEHTA DBLIYK MoK Y HEUMK
input (2} = mxCreateNumericArray(2, (/1,1/),classid,0) CO3NAa8y YKABATENE HAa apNyMeHT, CcXfa MomoM Syfam BafMUcsRATE ADTYMEHT DYHKUHK J INTEGER
K INTEGER
! v yrasavens prhs(2) wamo poaTL em@ yrasaTenb...
zall mxCopyPtrToReald | mxGetPriprhs(2) ;. ;! WARNING: 1 : /% REALJ DUMMY - ARG INTEGER
vall mxCopyPtrToReald ( mxGetPriprhe (3], ) LOWAR G = 4/5 REALY
call mxCopyPtrToReald ( mxGetPriprhsi4) ), )| WARNING: nepemenuas n/9 REAL{
zall mxCopyPtrToIntegerd ( mxGetPi(prhs(5)), ) ! WARNING: mapemadHas n/o INT REAL
DUMMY - ARG REAL

zall QS12R(RESULT, A, B, ourfunc, srr, N, IERR} ! Bunonuenue dyHRUMKM, DAOM KOTODOK BCE M DaTeBaNoChL
DUMMY - ARG REAL
write(line,*) "A nunosr of nodes = "N ! Ham MHTSPSCHO MTOIOBOS KOJMYSCTBO YWIIOB IS SAUAHHOH TOYHOUTH
k*mexPrintf (line//achar(13);
~--SYMBOLIC CON
plhe (1) = mzCreateNumericArray(2, (/1,1/),clas=id, 0} ! B plhs(l) Her ofmewra, HauD 210 COB4ATb -NAME----TYPE VALUE---REFERENCES-
zall mxCopyRealdToPtr(RESULT, mxGetPr(plhs(1l)), 1) ! Banumem pesynLTAT HA BuEOX. He DadupaeM MPo COOTBETCBME THUIOD 1A INTEGER 50 2/5

STANTS-~{LO=A/R}

! H2 3adbupasm 3a CcoDOH yOHpaTe
czall mxDestroyArray(input(2))




Npglellifell
(JoparmeHTbl KoAQ)

select: aBlock
| newCollection |
newCollection := self species new.
self do: [:each |
(aBlock value: each)
ifTrue: [newCollection add: each]].

“newCollection

| rectangles aPoint |

rectangles := OrderedCollection
with: (Rectangle left: 0 right: 10 top: 100 bottom: 200)
with: (Rectangle left: 10 right: 10 top: 110 bottom: 210).
aPoint := Point x: 20 y: 20.
collisions := rectangles select: [:aRect | aRect containsPoint:

aPoint].
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this.time = 0;
return 2;

Teacher {

private int id;
private String naue;

on length; xwz. Lx =b *

private int age; Lx = b * Math.cos(Gamma * degreeToRadianConv):
private int, unuaedFi_ l i i X Ly = L * Math.cos{ilpha * degreeToRadianConv):;
y = S Al A

—

= b * Math.sin(Gammwa * degreeToRadianConv):

o
m m m

—

public Student (int
this.id = id;
thls .name = name: £ h nd  z dina f th v end of the cannon

this.:age = age’- 11 use these a the initial x and displs e
= L * Math.cos( (90 - Alpha) * degreeToRadianConv) * Math.cos(Gamma * degreeToRadianConv):
} L * Math.cos((90 - Alpha) * degreeToRadianConv) * Math.sin(Gamma * degreeToRadianConv):;

@Deprecated
public int getdge ()

= Vm * cosX * time + xe;
return ag s g (Yh + (L * Math.cos(Alpha * degreeToRadianConv))) + (Vo * cosY * time) - (0.5 * g * (time * time));
= Vm * cosZ * time + ze;

0ff the simulation if it's ting too long
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#include<iostream>
using namespace std;

Hint main() {
cout<<"Enter The Size Of Array:
int size;
cin>>size;
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int array[size], key,i;

// Taking Input In Array
for(int j=0;j<size;j++) {
cout<<"Enter "<<j<<" Element:
cin>>array([j]:

}

//Your Entered Array Is
for(int a=0;a<size;a++) {
cout<<"array[ "<<a<<" ] =
cout<<array[a]<<endl;
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A3bIKM MPOTPAMMMUMPOOBAHMS

H3KOYPOBHEBLIE BbICOKOYPOBHEBbIE
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#include <iostream>
using namespace std;
int Fib(int 1)

{

int value = 9;

if(i < 1) return ©;
if(i == 1) return 1;
return Fib(i-1) + Fib(i
}

int main()

IDENTIFICATION DIVISION.
PROGRAM-ID. SAMPLE.

DATA DIVISION.
WORKING-STORAGE SECTION.

77 fibl pic 999.
fib2 pic 999.
fib3 pic 999.
i pic 99.

[N

fibst pic XXX.
res pic X(64).

[
NEFEFOWOWONOOTULEWNER

[y

PROCEDURE DIVISION.

[y
w

move @ to i

=
'

move @ to fibl

[y
u

cout << Fib(i) << endl;
i++;
}

return ©;

move 1 to fib2

[
()]

move "" to res

[y
~

perform until i greater than 15

add fibl to fib2 giving fib3

[N
0

move fib2 to fibl

[y
O

move fib3 to fib2
move fibl to fibst
string res DELIMITED BY SPACE
fibst DELIMITED BY SIZE
i DELIMITED BY SIZE into res
add 1 to 1
end-perform.
display res "..."

stop run.
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